Scenario_2_1st_fix_comparison
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Modus: Unterschiede, Im Kontext
Linke Datei: D:\Projects\[....]\docs\NXP\Community_tickets\01_Debug_issues\Screnario_2_gdb_log.txt
Rechte Datei: D:\Projects\[....]\docs\NXP\Community tickets\01_Debug_issues\Screnario_2 with_1st fix_gdb_log.txt

10 cc =0 =| 10 cc =20
11 config string = 11 config string =
12 ccs_get cc_config; ccs error = 23 12 ccs_get cc config; ccs error = 23
13 Error message: CC not present 13 Error message: CC not present
14 |ccs_config cc 14|ccs _config cc
15 serverh = 0 15 serverh = 0
16 config string = s32dbg:169.254.190.174 <>| 16 config string = s32dbg:169.254.158.76
17 ccs_config cc; ccs_error = 0 =| 17 ccs_config cc; ccs_error = 0
18| ccs_set_connection_timeout 18| ccs_set_connection_ timeout
19 serverh = 0 19 serverh = 0
20 timeout = 100 20 timeout = 100
21 ccs_set connection timeout; ccs_error = 0 21 ccs_set connection timeout; ccs error = 0
22|ccs config server 22 |ccs config server
193 0x00000004 0x00000004 0x00000004 0x00000004| = |193 0x00000004 0x00000004 0x00000004 0x00000004
194 0x00000004 0x00000004 0x00000004 0x00000004 194 0x00000004 0x00000004 0x00000004 0x00000004
195 0x00000004 0x00000004 0x00000004 0x00000004 195 0x00000004 0x00000004 0x00000004 0x00000004
196 0x00000004 0x00000004 0x00000004 0x00000004 196 0x00000004 0x00000004 0x00000004 0x00000004
197 0x00000004 0x00000004 0x00000004 0x00000004 197 0x00000004 0x00000004 0x00000004 0x00000004
198 0x00000004 0x00000004 0x00000004 0x00000004 198 0x00000004 0x00000004 0x00000004 0x00000004
199 handle = 1 <>[199 handle = 3
200 ccs_add register group; ccs_error = 0 = (200 ccs_add _register group; ccs_error = 0
201 |ccs_read register group 201 |ccs _read register group
202 serverh = 0 202 serverh = 0
203 cc =0 203 cc =0
204 handle = 1 <>1204 handle = 3
205 [chain pos:1 index: 8192 count:1 size:4] = 1205 [chain_pos:1 index: 8192 count:1 size:4]
206 value: 00000000 206 value: 00000000
207 [chain pos:1 index: 8193 count:1 size:4] 207 [chain_pos:1 index: 8193 count:1 size:4]
208 value: 00000000 208 value: 00000000
209 [chain pos:1 index: 8194 count:1 size:4] 209 [chain_pos:1 index: 8194 count:1 size:4]
210 value: 00000001 210 value: 00000001
334 |ccs_read memory = |334|ccs_read_memory
335 coreh = [serverh:0;cc_index:0;chain pos:1] 335 coreh = [serverh:0;cc_index:0;chain pos:1]
336 addr = 336 addr =

[space:0;size:4;address_hi:0x00000000;address 10:0x00000000] [space:0;size:4;address hi:0x00000000;address 10:0x00000000]
337 data: (size = 4) 337 data: (size = 4)
338 D1010060 338 D1010060
339 ccs read memory; ccs error = 0 339 ccs read memory; ccs error = 0
340 |ccs_read memory +-
341 coreh = [serverh:0;cc_index:0;chain pos:1]
342 addr =

[space:0;size:4;address_hi:0x00000000;address 10:0x40000200]
343 data: (size = 4)
344 D1010060
345 ccs_read memory; ccs_error = 76
346 Error message: Bus error
347 |ccs_write register = |340|ccs write register
348 coreh = [serverh:0;cc_index:0;chain pos:1] 341 coreh = [serverh:0;cc_index:0;chain_pos:1] ‘
349 index = 8206 342 index = 8206
350 count = 1 343 count = 1 ‘
351 size = 4 344 size = 4
352 value: (size = 4) 345 value: (size = 4)
353 00000000 346 00000000
354 ccs_write register; ccs_error = 0 347 ccs_write register; ccs_error = 0
355|ccs_read register group 348 |ccs_read register group
356 serverh = 0 349 serverh = 0
357 cc =0 350 cc =0
358 handle = 1 <>[351 handle = 3
359 [chain_pos:1 index: 8192 count:1 size:4] =352 [chain_pos:1 index: 8192 count:1 size:4]
360 value: 00000000 353 value: 00000000
361 [chain pos:1 index: 8193 count:1 size:4] 354 [chain_pos:1 index: 8193 count:1 size:4]
362 value: 00000000 355 value: 00000000
363 [chain_pos:1 index: 8194 count:1 size:4] 356 [chain_pos:1 index: 8194 count:1 size:4]
364 value: 00000001 357 value: 00000001
488 |ccs_read memory = |481|ccs_read_memory
489 coreh = [serverh:0;cc_index:0;chain pos:1] 482 coreh = [serverh:0;cc_index:0;chain pos:1]
490 addr = 483 addr =

[space:0;size:4;address _hi:0x00000000;address 10:0x00000000] [space:0;size:4;address hi:0x00000000;address 10:0x00000000] ‘
491 data: (size = 4) 484 data: (size = 4)
492 D1010060 485 D1010060 ‘
493 ccs read memory; ccs error = 0 486 ccs read memory; ccs error = 0
494 |ccs_read memory +-
495 coreh = [serverh:0;cc_index:0;chain pos:1]
496 addr =

[space:0;size:4;address_hi:0x00000000;address 10:0x40000200]
497 data: (size = 4)
498 D1010060
499 ccs_read memory; ccs_error = 76
500 Error message: Bus error
501 |ccs multi core run mode = |487|ccs multi core run mode
502 chain pos: (size = 1) { 1 (undefined) } 488 chain pos: (size = 1) { 1 (undefined) }
503 ccs multi core run mode; ccs error = 76 489 ccs multi core run mode; ccs error = 76
504 Error message: Bus error 490 Error message: Bus error
505|ccs:Bus error 491 |ccs:Bus error
506|ccs_run multi core 492 |ccs_run_multi core
507 chain pos: (size = 0) {1} 493 chain pos: (size = 0) {}
508 ccs_run_multi core; ccs_error = 6 494 ccs_run_multi core; ccs_error = 6
509 Error message: Invalid parameter 495 Error message: Invalid parameter
510 |ccs:Invalid parameter 496 |ccs:Invalid parameter

-+[497[ccs:Core disabled

511|ccs_run core = |498|ccs_run core
512 coreh = [serverh:0;cc_index:0;chain pos:1] 499 coreh = [serverh:0;cc_index:0;chain_pos:1]




